

ON A QUADRATIC ESTIMATE OF SHAFER

LING ZHU

(communicated by P. Bullen)

Abstract. In this note, an upper bound for $\arctan x$ is obtained. We would point out that the numbers $80/3$ and $256/\pi^2$ are the best constants in Shafer-type inequality.

1. Introduction

Shafer [1-3] established the following results for $\arctan x$ and $\tanh^{-1} x$:

THEOREM 1. *Let $x > 0$. Then*

$$\arctan x > \frac{8x}{3 + \sqrt{25 + \frac{80}{3}x^2}}. \quad (1)$$

THEOREM 2. *Let $0 < x < \sqrt{15}/4$. Then*

$$\tanh^{-1} x < \frac{8x}{3 + \sqrt{25 - \frac{80}{3}x^2}}. \quad (2)$$

In fact, we can show an upper bound for $\arctan x$, and obtain the following theorem:

THEOREM 3 (SHAFFER-TYPE INEQUALITY). *Let $x > 0$. Then*

$$\frac{8x}{3 + \sqrt{25 + \frac{80}{3}x^2}} < \arctan x < \frac{8x}{3 + \sqrt{25 + \frac{256}{\pi^2}x^2}}. \quad (3)$$

Furthermore, $80/3$ and $256/\pi^2$ are the best constants in (3).

In this note, we shall prove Theorem 3 by elementary method, and show a new simple proof of Theorem 2 in concise way.

Mathematics subject classification (2000): 26D15.

Keywords and phrases: Shafer-type inequality; An upper bound for $\arctan x$.

2. Two Lemmas

LEMMA 1. Let $|x| < \pi$. Then

$$\cot^2 t = \frac{1}{t^2} - \frac{2}{3} + \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (2n-1)t^{2n-2}. \quad (4)$$

Proof. The following power series expansion can be found in [4, 1.3.1.4 (2); 5, 1.3.10]:

$$\cot t = \frac{1}{t} - \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| t^{2n-1}, \quad |t| < \pi \quad (5)$$

or

$$t \cot t = 1 - \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| t^{2n}, \quad |t| < \pi. \quad (6)$$

(For further comprehension of the even-indexed Bernoulli numbers B_{2n} , refer to pp.231-232 in [6].) Then

$$\csc^2 t = -(\cot t)' = \frac{1}{t^2} + \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (2n-1)t^{2n-2}, \quad |t| < \pi, \quad (7)$$

and

$$\cot^2 t = \csc^2 t - 1 = \frac{1}{t^2} - \frac{2}{3} + \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (2n-1)t^{2n-2}, \quad |t| < \pi.$$

LEMMA 2 ([7-9]). Let a_n and b_n ($n = 0, 1, 2, \dots$) be real numbers, and let the power series $A(t) = \sum_{n=0}^{\infty} a_n t^n$ and $B(t) = \sum_{n=0}^{\infty} b_n t^n$ be convergent for $|t| < R$. If $b_n > 0$ for $n = 0, 1, 2, \dots$, and if a_n/b_n is strictly increasing (or decreasing) for $n = 0, 1, 2, \dots$, then the function $A(t)/B(t)$ is strictly increasing (or decreasing) on $(0, R)$.

3. Proof of Theorem 3

Let

$$F(x) = \frac{\left(\frac{8x}{\arctan x} - 3\right)^2 - 25}{x^2},$$

and $\arctan x = t$. Then $x = \tan t$ for $t \in (0, \pi/2)$, and we have $F(x) = 16G(t)$, where

$$\begin{aligned} G(t) &= \frac{4 \tan^2 t - 3t \tan t - t^2}{t^2 \tan^2 t} = \frac{4 - 3t \cot t - t^2 \cot^2 t}{t^2} \\ &= \frac{1}{t^2} \left[4 - 3 \left(1 - \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| t^{2n} \right) - \left(1 - \frac{2}{3} t^2 + \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (2n-1)t^{2n} \right) \right] \\ &= \frac{5}{3} + \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (4 - 2n)t^{2n-2} \end{aligned} \quad (8)$$

by (6) and (4).

Since $G'(t) = \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} |B_{2n}| (4 - 2n)(2n - 2)t^{2n-3} < 0$, We conclude that $G(t)$ is decreasing on $(0, \pi/2)$. This leads to $F(x)$ is decreasing on $(0, +\infty)$.

Furthermore, $\lim_{x \rightarrow +\infty} F(x) = 16 \lim_{t \rightarrow \frac{\pi}{2}^-} G(t) = 16 \lim_{t \rightarrow \frac{\pi}{2}^-} \frac{4 \tan^2 t - 3t \tan t - t^2}{t^2 \tan^2 t} = \frac{256}{\pi^4}$, and $\lim_{x \rightarrow 0^+} F(x) = 16 \cdot \frac{5}{3} = \frac{80}{3}$. The proof of Theorem 3 is complete.

4. A Concise Proof of Theorem 2

Let

$$H(x) = \frac{25 - (\frac{8x}{\tanh^{-1} x} - 3)^2}{x^2},$$

and $\tanh^{-1} x = t$. Then $x = \tanh t$ for $t \in (0, \tanh^{-1} \sqrt{15}/4)$, and we have $H(x) = 16I(t)$, where

$$I(t) = \frac{-4 \sinh^2 t + 3t \sinh t \cosh t + t^2 \cosh^2 t}{t^4 \cosh^2 t} = \frac{A(t)}{B(t)},$$

and

$$\begin{aligned} A(t) &= -4 \sinh^2 t + 3t \sinh t \cosh t + t^2 \cosh^2 t \\ &= -2(\cosh 2t - 1) + \frac{3}{2}t \sinh 2t + \frac{1}{2}t^2(\cosh 2t + 1) \\ &= -2 \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n} + \frac{3}{2} \sum_{n=0}^{\infty} \frac{2^{2n+1}}{(2n+1)!} t^{2n+2} + \frac{1}{2}t^2 + \frac{1}{2} \sum_{n=0}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n+2} \\ &= -2 \sum_{n=2}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n} + \frac{3}{2} \sum_{n=1}^{\infty} \frac{2^{2n+1}}{(2n+1)!} t^{2n+2} + \frac{1}{2} \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n+2} \\ &= -2 \sum_{n=1}^{\infty} \frac{2^{2n+2}}{(2n+2)!} t^{2n+2} + \frac{3}{2} \sum_{n=1}^{\infty} \frac{2^{2n+1}}{(2n+1)!} t^{2n+2} + \frac{1}{2} \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n+2} \\ &= \sum_{n=1}^{\infty} \left[-2 \frac{2^{2n+2}}{(2n+2)!} + \frac{3}{2} \frac{2^{2n+1}}{(2n+1)!} + \frac{1}{2} \frac{2^{2n}}{(2n)!} \right] t^{2n+2} \\ &= \sum_{n=1}^{\infty} a_n t^{2n+2}, \end{aligned}$$

$$\begin{aligned} B(t) &= t^4 \cosh^2 t = \frac{1}{2}t^4(1 + \cosh 2t) = \frac{1}{2}t^4 + \frac{1}{2} \sum_{n=0}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n+4} \\ &= t^4 + \frac{1}{2} \sum_{n=1}^{\infty} \frac{2^{2n}}{(2n)!} t^{2n+4} = t^4 + \frac{1}{2} \sum_{n=2}^{\infty} \frac{2^{2n-2}}{(2n-2)!} t^{2n+2} \\ &= \sum_{n=1}^{\infty} b_n t^{2n+2}, \end{aligned}$$

$a_1 = \frac{5}{3}$, $a_n = \frac{-4 \cdot 2^{2n+2} + 3(2n+2)2^{2n+1} + (2n+2)(2n+1)2^{2n}}{2(2n+2)!}$, $b_1 = 1$, $b_n = \frac{2^{2n-2}}{2(2n-2)!} > 0$, $n \geq 2$, and $n \in \mathbf{N}^+$.

So $\frac{a_1}{b_1} > \frac{a_2}{b_2}$, and for $n \geq 2$ we have

$$c_n = \frac{a_n}{b_n} = \frac{4(2n+2)(2n+1) + 24(2n+2) - 64}{(2n+2)(2n+1)2n(2n-1)}.$$

We conclude that c_n is decreasing for $n = 1, 2, \dots$, and $I(t) = \frac{A(t)}{B(t)}$ is decreasing on $(0, \tanh^{-1} \sqrt{15}/4)$ by Lemma 2. This leads to $H(x)$ is decreasing on $(0, \sqrt{15}/4)$. At the same time, $\lim_{x \rightarrow 0^+} H(x) = \frac{80}{3}$. So the proof of Theorem 2 is complete.

REFERENCES

- [1] R. E. SHAFER, *On quadratic approximation*, SIAM J. of Numerical Analysis, **11**, 2 (1974), 447–460.
- [2] R. E. SHAFER, *Analytic inequalities obtained by quadratic approximation*, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No 577 - No 598 (1977), 96–97.
- [3] R. E. SHAFER, *On quadratic approximation, II*, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., No 602 - No 633 (1978), 163–170.
- [4] A. JEFFREY, *Handbook of Mathematical Formulas and Integrals* (3rd Edition), Elsevier Academic Press, 2004.
- [5] D. ZWILLINGER, *CRC Standard Mathematical Tables and Formulae*, CRC Press, 1996.
- [6] K. IRELAND AND M. ROSEN, *A Classical Introduction to Modern Number Theory*, 2nd ed., Springer-Verlag, New York-Berlin-Heidelberg, 1990.
- [7] M. BIERNACKI AND J. KRZYŻ, *On the monotonicity of certain functionals in the theory of analytic functions*, Ann. Univ. M. Curie-Skłodowska, **2** (1955), 134–145.
- [8] S. PONNUSAMY AND M. VUORINEN, *Asymptotic expansions and inequalities for hypergeometric functions*, Mathematika **44** (1997), 278–301.
- [9] H. ALZER AND S.-L. QIU, *Monotonicity theorems and inequalities for the complete elliptic integrals*, J. Comput. Appl. Math. **172** (2004), 289–312.

(Received December 14, 2007)

Ling Zhu
 Department of Mathematics
 Zhejiang Gongshang University
 Hangzhou, Zhejiang 310018
 P. R. of China
 e-mail: zhuling0571@163.com